FINAL EXAMINATION
ECE 580

Dec.10, 2014
Open Book

1. a. Find the cascade (4BCD) matrix of the two-port shown ig Fig. 1a.
b. Find the cascade matrix for the circuit of Fig. 1b.
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2. Atport 1 of anetwork, R;, Z; and S;; are known (Fig. 2). The network
is redesigned such that R; remains the same, but ,S;; changes sign. What is
the relation between the original Z; and the new one Z, ?
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3. a. Find the two transfer functions Hj(s) =Vou,#Vin, i=1, 2 of the two-port
shown in Fig, 3.

b. What are the pole frequency o pand the pole Q?

¢. Assume Ci/G,1=4C,/G,p,. What are the natural frequencies (poles)?
- d. Under the same assumption, where is the 3 dB frequency of (Hy(jo)|?
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